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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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Important Instructions

This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as New SyLLaBus and the other based
on pre-revised study material marked as OLp SyLLABUS.

New SyLLaBuS is for those candidates who have registered for 2023-2024
(Stream-I; Block-I) admission and are appearing in April 2024 Examinations.

OLp SyLLABUS is for those candidates who had registered before 2023-2024
(Stream—I; Block—I) admission.

Candidates are to answer only one Question Paper from the given two
Question Papers.

Candidates are not allowed to mix questions from the given two
Question Papers.
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NEW

This Question Paper consists of 51 questions.
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319/TUS/111A

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

Section-A consists of Question Nos. 1 to 20—Multiple Choice-type
Questions (MCQs) carrying I mark each. Select and write the most
appropriate option out of the four options given in each of these
questions. An internal choice has been provided in some of these
questions. You have to attempt only one of the given choices in such
questions.

Section-B consists of Question Nos. 21 to 35—O0Objective-type Questions
carrying 2 marks each (with 2 sub-parts of I mark each). Attempt these
questions as per the instructions given for each of the questions.

Section-C consists of

(a) Question Nos. 36 to 41—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 42 to 47—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

() Question Nos. 48 to 51—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

3 -1 d $oA 51 T B

aft w7 AR 2

Y% U % 37k 3Gk gEe feu Ty d)

WUE-31 H WA @ 1 ¥ 20 T Sgehedd W (MCQs) 7, T y@e we
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(a) T HET 36 ¥ 41, 2 3% & Afd-omia v §, H W 30 7 50 veat

7 & R

(b) T TE 42 F 47, 3 Ih & TR WA &, b W 50 ¥ 80 W

H gl

(c) U T 48 ¥ 51, 5 3 & cH-Iq0 U 7, T W 80 ¥ 120 wsdi

7 & R

p
(1)

(2)

Answers of all questions are to be given in the Answer-Book given to you.
afi wwEl % I 3Tl S S-Yfeaet A & ford|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3 YW-9F Sl Ued & fU 15 e o1 @9y feanr mm 81 wA-9F 1 faaqor Quet |
2:15 & fohaT SM@M| et 2:15 S & 2:30 9 dh B had IWH-UF Hl Ui 3R
39 IAY % CRH o IW-YRAH] W DI I g Torat |

N

Note :

frdm

1.

SECTION—A
G us—H

Question Numbers 1 to 20 are MCQs of I mark each. Internal choices
have been given wherever necessary :

;T & 1 H 20 Sgfashedd Y 2| TS Y 1 3T I 2| SRl Sawe 7, AN

faehed feU T § ¢

“The growing awareness about health care has led to an increase in the
demand for health care products and services in the country.” Identify the
feature of business environment being described in the above case.

(A) Dynamic (B) Uncertainty

(C) Complex (D) Interrelatedness

T CETA o T8 H Fedl g3 NTeehdl ¥ ¢ § TR CEWIA i a&q3l T Hansti

# A 4 ghg 5 317 SN Afq § AeEies wbeRy S e friwar fi ==t H

T 2, S8 ugEnu|
(A) Tiasfier (B) sAFfvadar
(C) wfew (D) 31Ty
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2. The full form of WTO is
(A) World Traders Organization (B) World Trade Organization
(C) World Travelers Organization (D) World Tour Organization 1

o o Ilo H YU T @

(8) fova wfe 1 e (B) fova =mm wed
(C) fava amht @wred (D) fova amn @eA

3. refers to the process of instructing, guiding, counselling, motivating
and leading people in the organization to achieve their objectives. 1
(A) Planning (B) Organizing
(C) Staffing (D) Directing

e % v A W % e st @ fEw 3, el w9, T 3,
sRBfE w7 Y9 w6 R F fafe w2

INIRERIEE] (B) @A
(C) THgfrertm (D) M
Or / HYal

is concerned with getting, utilizing and maintaining a satisfactory and
satisfied workforce.

(A) Planning (B) Organizing
(C) Staffing (D) Directing
_____ ©qE U9 HAING ST %I UTH HH, I TN H U I8 1T W@ F Hafea
2|
(A) FRESH (B) @A
(C) TEHRTT (D) TigeH
4. Which of the following documents is not used in external trade? 1
(A) Indent (B) Letter of credit
(C) Purchase order (D) Bill of lading
fafafega § 9 foog y93 1 T 9" SR #§ A TR Simar B0
(A) Fe=< (B) @@-1x
(C) T 3w (D) HIT g
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Or / HYal

The letter issued by the importer’s bank in favour of the exporter which
enable the exporter to get immediate payment is called

(A) letter of hypothecation (B) letter of credit
(C) letter of advice (D) demand draft

AT Seh g Faiaes & 9e H -9 97 9 foman san g, fem fafaes o aoe
WIaH 9§ e g 37

(A) ZfEeys ™ (B) Hr@-wA
(C) HeTE-T (D) fenie g
5. A company can raise capital through the primary market in which of the
following forms? 1
(A) Equity shares (B) Preference shares
(C) Debentures (D) All of the above
T S TR SR % wiea ¥ fEfaied § 8 fhE ®9 9 ISl Thhia s deedl 8 7
(A) wHaT 3 (B) aiferprr 3w
(C) o (D) 39w &f
Or / 31941
The capital structure of an organization refers to the choice of which of the
following?
(A) Dividend and wealth (B) Debt and equity
(C) Fixed assets and current assets (D) Fixed capital and working
capital
T e 1 ISt e ffafad § @ fohaeh =@a ol 3fgRad war 27
(A) @ T g (B) KU W THAT

(C) @l ufemfaal @ =] aiEtat (D) TRt ISt vd wRiEfa oot

6. Maximum number of members in a private company is
(A) 50 (B) 100
(C) 150 (D) 200 1

319/TUS/111A 6 NN SRR



ot et § gew i Sftean wE Bl 8
(A) 50 (B) 100

(C) 150 (D) 200

7. “Sanjay has decided to earn a profit of 30% in the current financial year.”

Identify the type of plan being described in the above lines. 1
(A) Method (B) Objective
(C) Strategy (D) Programme

“geg | 9] forfE 99§ 30% @ IIfid & @ i forml”
I Uk A =fd FSET % YHR Sl qg=TEY|

(A) fafe (B) 3IexA
(C) iy (D) RIHH
Or / 37¥arl

Which of the following statements is notrelated to the importance of planning?

(A) It reduces risk and uncertainty. (B) It leads to efficiency in
operations.
(C) It delays in actions. (D) Itfacilitates decision making.

frafafga wemt & @ SiA-w1 Fu ST % 9gw ° gefa T8 27
(A) Ig SIRew wg AffTaaan i w7 &l gl (B) ¥g JETSH ! HRIBIEl hl 3R

& ST 2
(C) =8 Mt § <t e gl (D) =g fFofa oM o gfaen ye@ wtar 2l
8. The World Youth Skill Day is celebrated on
(A) 15th July (B) 15th March
(C) 15th October (D) 15th December 1
Tova ga1 wive fega’ wARm S 2
(A) 15 eI ! (B) 15w =i
(C) 15 3TageR ol (D) 15 feomr =t

319/TUS/111A 7 IR ce-r.o.



9.

10.

Identify the correct sequence of steps in the process of formation of a

company.

I. Promotion stage

II. Capital subscription stage

III. Commencement of business stage

IV. Incorporation stage

(A) I, I, I, 1Iv B) I, Iv, I, I
() 1v, I, I, 1II (D) Iv, I, I, III

FHEHT T T B R S TN % TE %H W qEEn
I Yo STae

. S ifem afeen

I, @I =T hl IO ohl STaEAT

V. e srEeen

(A) I, II, 1OI, IV B) I, Iv, III, I
() 1v, I, 11, III (D) 1v, 11, I, III
Or / 31941

Which of the following plans is expressed in financial terms?
(A) Strategy (B) Rule

(C) Policy (D) Budget
frefafaa & & fopg I &1 fodfis &9 & =6 fmen S 27

(&) wrifa (B) frm

(C) fifa (D) e

Equity shareholders are called

(A) owners of the company (B) partners of the company
(C) executives of the company (D) creditors of the company
Tl FIUH hgerd

(A) SO @t (B) I % HTER

(C) Hrt & Ifereprd (D) HEHT & THER

319/TUS/111A 8 NN SRR



11. There are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the appropriate option from the options given

below :

Assertion (A) : B2C enables a business firm to be in touch with its
customers round the clock.

Reason (R) : As in B2C, there are business firms at one end and its
customers on the other end.

(A) (A) is correct but (R) is wrong

oy}

(

(
(D

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

@)

)
) Both (A) and (R) are correct but (R) is the correct explanation of (A)
) Both (A) and (R) are incorrect

gt o % fou mu E, 9= atfimpem (A) 9en #wer (R) & fafea fham mm 21 et
ufed 3R feu o faskedt o @ Iwpw fasked &1 =amA AT -

R (A) . dfiodt (B2C) Sredfies wH i Td-fe 3797 UTgehl & T9eh €1fud i
T [ S 2|

HI (R) ;128 (B2C) H Ush BR W SATSEIIH FH 8 I G BR W 3Hh TT8h|
(&) (A) ¥& ? AfFT (R) Tord @

(B) I (A) 3R (R) & & Wg (R), (A) H & =Iwewn & 7

(C) @Fi (A) 3R (R) @& & wg (R), (A) 1 & =A@ 7

(D) Tl (A) 3 (R) Tefd &

Or / 37¥ai

Which of the following is not a limitation of E-commerce?

(A) Lack of adequate Internet (B) Delivery and payment
infrastructure related issues

(C) Shortened transaction time (D) Absence of cyber laws

frffiga o @ - $-md 61w 7@ 87

(A) T g g o (B) Y T e weeh T

(C) W e & & & et (D) ®TEsR il i IrgHfefd

319/TUS/111A
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12. Short-term and temporary incentives to purchase or induce trials of new
goods refers to

(A) advertising (B) publicity

(C) sales promotion (D) direct marketing 1
T agst I @l T vhewr IR HE B AGHIH 9 IEARN WeaTed H 6y 7

A) fogmm = (B) YR &

(C) Tosha wada @ (D) Yy fosme= &

13. Contracting out some of its activities to a third party which was earlier
performed by the organization is

(A) BPO (B) E-commerce

(C) outsourcing (D) E-banking 1
Hed g Yeel fearfea it S areft $© fRnsti @1 g uw # 3% W fo 9w @

(A) =EETReR ufshan SRR (BPO) (B) 3-shiHH

(C) STRETfeRTT (D) $-Sfeh

Or / HYal

Which among the following is not a characteristic of business risk?
(A) Loss is the reward for risk-bearing.

(B) Business risks are due to uncertainties.

(C) Risk is an essential component of every business.

(D) Degree of risk depends mainly upon the nature and size of business.

frefafaa @ @ FH-H =meEts i ft fowma T8 27

(A) Sfe" I3M w1 Il B R

(B) ATeETRh SiRgdl 1 Hror ffFedar 2|

(C) Sfem II% =HaE™ T Th HEWH Geh &

(D) SiRew I WHET YT 9 ¥ U™ H YHA TH AHR W R 7

319/TUS/111A 10 NN SRR



14. National Small Industries Corporation Ltd. (NSIC) was set up in the year

(A) 1950 (B) 1955
(C) 1951 (D) 1956 1
TET oY 3TN Hne fafies (NSIC) & T 1 a9 2
(A) 1950 (B) 1955
(C) 1951 (D) 1956
15. Which function of management helps in minimizing errors? 1
(A) Planning (B) Organizing
(C) Directing (D) Controlling
TS 1 HH-ET HE A Hl A H U HERH 27
(A) FrESH (B) #eA
(C) Tz (D) T
Or / 37¥arl

Authority and responsibility relationships among job positions is defined in
which of the following functions of management?

(A) Planning (B) Organizing
(C) Staffing (D) Directing

frafafed & @ yavg & forg & & &m & fafd & sgarR AfUsR td wde & d9y
1 i feman Srar 27

INIRERIEE] (B) @A

(C) Frpfehentor (D) frcem

16. In government company, the share of the Central Government in paid-up
capital must be at least

(A) 30% (B) 49%
(C) 51% (D) 75% 1

Tsh TR HEHT h Fehal St H hg HEHR T IdW WFT BT @
(A) 30% (B) 49%
(C) 51% D) 75%

319/TUS/111A 11 IR ce-r.o.



17. The ability of a firm to convert an asset to cash is called

(A) liquidity (B) solvency
(C) return (D) marketability 1
®H G AT IiEUREl @l e H giEfdd s Rl gEal Hedrdl @
(A) Herar (B) SNEAeHT
(C) amaE (D) femuaran
Or / 37¥ar

X Ltd. earned a profit of ¥ 15 crores. Out of this, the company decided to
retain ¥ 10 crores for business expansion and growth, this decision relates to

(A) investment decision (B) financing decision
(C) working capital decision (D) dividend decision

X Ltd. 9 304 T 15 U o AR ¥ H § T 10 HUS ™ o [9R I Jhg 6
fou ufgafa @ w1 folw fomn o fole gefia 2

A) Tew fol @ (B) foria foorr @
(C) wriEfa oot folr & (D) @ for @
18. Which of the following is not a feature of the Departmental Store? 1
(A) 24x7 shopping (B) Wide range of products
(C) Large size (D) Located at a central place
fied & § &H-8 v v’ i forivar & 37
(A) 24x7 Eliggd (B) 3@mGi i foeqa oEen
(C) ST IATHR (D) *=F =H ® e g
19. The full form of NSE is
(A) National Securities Exchange (B) National Stock Exchange
(C) Nominal Securities Exchange (D) Net Sales Earning 1

THo THo o (NSE) &1 U &4 amsu|
(A) TeMe faeRnfies vams (B) YA Wi THTwA
(C) +ifter fernfifest wo=iw (D) = ¥ed 3w

319/TUS/111A 12 NN SRR



20. The King of the Market’ is
(A) producer (B) consumer
(C) retailer (D) wholesaler 1

‘TSR T TS 2

(A) 3dICH (B) U
(C) Peat foshar (D) s fearshar
Or / 37¥ar
Paid form of non-personal presentation and promotion of goods and services
is called
(A) publicity (B) salesmanship
(C) advertising (D) sales promotion

FEGIT I A1 & TR d Fadd b oI e wqfa faeh fore spmam fema
T %, FECl @

(A) TER (B) fospaehen
(C) forro (D) faska wada
SECTION—B
Qug—a

Note : Question Numbers 21 to 35 given below. Internal choices have been given
wherever necessary :

e = g " 21 9 35 fou mu E| St off stavaes 7, stiaftes fashed fow e F

21. Fill in the blanks : 1x2=2

(a) refers to the official powers and position required to carry out
the task.

(b) refers to the obligation on the part of the subordinates to whom
responsibility and authority are granted.

& WA ‘qﬁQ :

(%) &1 GeY fhHl w1 & FH & o Jed f 72 snfeeies wke e fRafa
° 2l

(@) &1 gay AT & qfRica ¥ 7 f92 hdew wa rfuer gem foen e 2

319/TUS/111A 13 IR ce-r.o.



Or / HYal

Fill in the blanks : 1x2=2

(a) refers to the process of entrustment of a part of work or
responsibility and authority to subordinates.

(b) refers to systematic efforts to delegate authority at all levels of
management.

foh T Wi .

() 1 Gy efTEA 1 HE 6 b w1 e 9 iR g S ufse
q 2l

(@) T TS TS & T T W FGIT €9 8 IRBR AR & Tl 9 2|

22. Match the type of preference shares given in Column—I with their
respective meaning given in Column—II : 2

Column—I Column—II

(a) Convertible preference (i) Have a right to share the profit after
shares making payment of dividend at a pre-
decided rate to equity shares.

(b) Non-cumulative pre- (ii) Shares which can be converted into
ference shares equity shares after a specified period of
time.

(c) Participating preference (iii) When the amount of preference shares is

shares refundable only at the time of liquidation.

(d) Irredeemable pre- (iv) The preference shares on which the

ference shares dividend is not accumulated if it is not
paid.

A) (@ (b) () (d)
() (@) (i) (iv)

B @ (b (J (@
@ () @ (i)

(€) (@ (b) (¢ (d)
@ @ (v @

(D) (@ (b) () (d)
(v) (i) (@) (i)

319/TUS/111A 14 NN SRR



Hia—I # feu U gl 3N % YR @1 fHaH wla—I1 # fou U 7 ¥
Hifs -
Hie—I HicH—II
(@) UG qaffaert 3 (i) F= gual A W g | @ 8 v e
% wie o o 9T oF %1 AR Bl B

(b) FrE=ER qEifeert 3w @) ¥ 3 3w 2, 2 w Ffvga safu & s grar
i o ufafda fam ST oaeRar 21
(c) wTfieRt qaifeehrl 379 (iii) & GATHRRT 3T HT TR hael ST o FHH
& Tma & gfaea gnft)
(d) e il siw () F Eited 3w, T w afe e 7@ fe
8, @ 98 "iud T& gl
(A) (@ (b) (¢ (d)
@ @ (i) (iv)
(B) (@) (b) (o) (d)
@ () () (i)
€) (@ (b) (o) (d)
@ (i) (iv) (i)
(D) (@ (b) (c) (d)
(W) (@) (@ )
23. Fill in the blanks : 1x2=2

(a) The money market instrument which is payable on demand and its
maturity period varies between one day to a fortnight is

(b) A short-term instrument issued by commercial banks and special
financial institutions which are freely transferable from one party to

another is

ﬁ?ﬁ@l‘ﬁﬂfm:

(%) g1 99K 61 Yo, et qadmam afn @ ¢ 8 3 suehl aituear s7afy wh fe
o 3 wHE q% E, 2|

(@) Teh 3TcTehlicish Yoig, ST dTUISdeh bl g0 Ug faiyre foxi e gro it feeu
S § 3 S Tk g ¥ g U¥ S WdAdgEs geiany €, 2l

319/TUS/111A 15 IR ce-r.o.




Or / HYal

Write True or False of the following statements : 1x2=2

(a) Capital market may be defined as a market dealing in short-term and
medium-term funds.

(b) Financial market may be defined as a transaction mechanism between

investors and the borrowers through which transfer of funds is
facilitated.

fafafiga = ot € =1 o, fefew .

() Sl ST 1 Th UH STSR o &9 H GRATNG foRam o1 Hehal 8 &l STeehiicrss o
HEIHhIIoh il ol o--¢d Bidl &l

(@) Toxflm SR 1 faves o woft & %7 oFeT & UH dF o &9 H UNING fRam S
Tehal & S foaxia i % A § giawr YeH A 7

24. Give one word for the following statements : 1x2=2
(a) It involves estimating the manpower requirement of an organization.

(b) The process of systematically collecting information relating to all
aspects of a job.

fafafga et % foe o s dfv -
(%) 3EH TS & foU Ama vt smaveshar &1 AW oA ffed R
(@) HE-wedl aft qgqan & v =efem 9 8 g weba s@ 6 aiha|
Or / FYar
Give one word for the following statements : 1x2=2

(a) The process of finding and attracting suitable applicants for
employment.

(b) The process of choosing the most suitable person from amongst the
list of interested candidates.

fafefaa wemi & fou s weg dfm -
(%) UR & ol IUgh ATAEhl 1 god U9 3hi¥d i I isha|
(@) s=ge AR &l g § ¥ T99 IuYH ARk o g hl FisHAT|

319/TUS/111A 16 NN SRR



25. Fill in the blanks : 1x2=2

(a) refers to buying goods from the manufacturers or wholesalers
and selling the same to the final consumers.

(b) refers to buying goods in large quantities from producers or
manufacturers for sale to other traders.

feh s Wi -

() w1 gy fmfareti e o foshatsti @ a3t @1 A W 3w Al

JURAIST bl fasha 3 9 2RI

(@) H GEY 3Tl Jgar Fmiaist @ 9 A # aEgIti w1 s W 3w I3
foghamatt & S=1 @ Rl

26. Give one word for the following : 1x2=2

(a) The campaign launched by the Government of India for connecting
rural areas with high speed Internet connectivity and improve digital
literacy

(b) The programme that aims at utilising the existing Indian talent base,
creating additional employment opportunities and empowering
secondary and tertiary sectors

frfefaa & fow s oo difvw -

(%) 9Rd EER g 3RH foram man s, e swara amfior & @ oS i B
IS HAfaeferdl 9 Iea fefiiea em @ wier o1 @1 2

(@) 9% HEHH, TTGh 32T T YRATT AT STUR T ITFNT ITITh TSI STaEl
w1 g ael fgdfaes @ qdias &= %l 9vRh ST @
Or / 374l

Give one word for the following : 1x2=2
(a) Simplified policies to attract foreign capital and technology to India

(b) Integrating the economy of a country with the world economy

frefafed & fow s w=e o .
(%) faceft o7t 9 ik I 9T H NG i o 0 Weflpa Aifaal
(@) 9 h Fegeer i fova FAdeyewen ¥ waf<"d &
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27. From the following, identify the major components of working capital : 1x2=2
(a) Supplies, temporary or short-term investments

(b) Customer deposits and deferred revenue, pay roll taxes withhold from
employees

Ffafied § & #rRid ISt % Iq@ @ehl ®l 8T :

(%) M, AR YT AGHITh A
(T) UTEsh ST qUT AR M, HHATE 6 Ush §C U-{AA ol

Or / 37¥ar

Identify the following types of leverage : 1x2=2

(a) This refers to the amount of debt in the capital structure of the
business firm.

(b) It is the ratio of fixed cost to variable cost.

S % JHR Hl TR

() THHT Hae AEEMIS BH & Yol = # BT H AR F B
(@) 98 Tl @ @1 qiEdHE @ | S Bl

28. From the following, identify import trade, export trade and entrepot
trade : 1x2=2

(a) When the firm of a country sells goods to the firm of another country

(b) When the firm of a country import goods for the purpose of exporting
the same to the firms of some other countries with or without making
any change

freafafea & @ smm, fafd 9 g@-fafa s S g
(%) 99 UH W H BH g W B HH H gEqE d=d @

(@) 39 TH <N hl BH I HT AT 0 IR e 3gaT aiadq fope fomr fopeft
TE oW I HH H G kI | A 7
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29. Identify manufacturing/service small enterprises from the following
statements : 1x2=2

(a) The enterprises having investment in plant and machinery excluding
investments in land and building between ¥ 25 lakh and ¥ 5 crores.

(b) The enterprises having investment in plant and machinery excluding
investments in land and building between ¥ 10 lakh and ¥ 2 crores.

frfafga sl @ fufoft/ger g el & gg=nT

(%) W@ Iz, 8 4t v wam % few & sifafes wie 9 wied & few T 25 o
g T5 HUE & 9 2l

(@) T IEmi, ek Y v waq § faw % Al wie ta wefiad & few T 10 @@
¥ T2 HS % d4 gl
30. Give one word for the following statements : 1x2=2

(a¢) The component of marketing mix that relates to channels of
distribution.

(b) The component of marketing mix which persuades and influences the
consumers.

ffefaa st % fort w weg dfv
() foqum fus &1 o7 weh, S gy foamor oemi @ R
(@) fouue fay =1 98 e, THe Gy SUNIRRIST i 3TYaEd 9 YWIed e 4§ 2
Or / 3Ya1
Give one word for the following : 1x2=2

(a) Goods meant for personal consumption by the households

(b) Goods meant for use as inputs in production

frafafea & foaw s weg difse
() UNER gRI SAfhTd SUHIT 8 TEEH HHH

(@) 3dTed H o orefl Fow & &9 d 3avds 9mH
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31. Identify the type of private company being referred to in the following
statements : 1x2=2

(@) A company whose turnover as per its last Profit and Loss Account
does not exceed ¥ 2 crores.

(b) The company having relaxation from preparing cash flow statement,
holding annual general meeting, etc.

frafafgd weal 4 sam U s S % YR Sl ggEnih

(%) Wb o, bl o1 fosht 3o fUsel -1 @1 & 3R W T2 +s 9
st T R

(@) T TH T, 8 Upg Jae faetor dIm @ 9 aiffes 319 98 TR
anfe & we fircft & 2

32. Identify the following and write ‘ES’ for equity share and ‘D’ for debenture :
1x2=2

(a) These holders get assured return irrespective of profit.

(b) It is suitable for those who wants to take risk for higher return.
frfafed @1 gg=nu aun |@9ar 3w % faqu ES’ 9 A & fov D’ fafew .
(%) 3 9iel & gHvad auE fedt g, =9 @ 8 A 1@l

(@) a8 37 foIU argetl 8, S 3tfues el 1 Sifgn a1 =ed gl

33. Write the full forms of the following : 1x2=2
(@) NSDC
(b) NSDM

ffefga & oof wv fafew .
() To THo Elo Hio

(@) To TWo lo TWo
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Or / 3741

Write the full forms of the following : 1x2=2
(a) NSDA

(b) SSC

frffiad % o =9 fafan

() To TWHo Elo To

(@) Tho THo Hlo

34. Correct the following sentences : 1x2=2

(a) Zero-stage distribution channel exists where there is an indirect sale
of goods by producer to customers.

(b) In one-stage channel of distribution, there are two middlemen used
namely, wholesaler and retailer.

= e wE ORI

(%) IYI-TF Toqwor TTm F7I @, &l IcTeeh 319 IUHIRHT i IS A 8 g
&1 fosha e Rl

(@) Th-T T e | o 9 gid &, fSeh 91 2 Uik skt 31 Beart fashar|

35. Identify the method of price fixation : 1x2=2

(a) Soham fixes the prices of shirts that he manufactures at 15% higher
than the cost.

(b) Rampal, a fruit vendor, increases the price of apples if there is a heavy
demand for them.

n@—ﬁaﬁwﬁ%’ﬁlmﬁn

(%) Gren 59 s 1 3cITeT Al & I o And § 15% 3Afaes faffa st
d

(W) AT, Uh G fashr, @i # W afg @9 W 9 1 qed wq1 ol 2
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SECTION—C
G us—H

Note : Question Numbers 36 to 51 given below. Internal choices have been given
wherever necessary :

o : 9 uv T 36 @ 51 feu u §| Et oft SArevass 7, i foaehew few mw E -

36. “It is common now to see CD-ROM’s, computerized information kiosks, and
Internet/World Wide Web multimedia pages highlighting the virtues of
products.” Name the components of the business environment highlighted
by this statement.

Also name the two other components of non-economic environment
affecting business. 2

“IS HoSto-H, HFRLhd AT fhdleh 3R 3eie/doe a1se oF Hedmiiea T fhet
3G % U ol QU BT USl &A1 HURW 21 W YA H A dATaER o o4
Tl W YR ST T 8, 34 A9 Sarsy|

I i THIEd i ot @ A MM dwal & A1 off sqmsu|

37. State any two benefits of training to employees. 2
HoaTiEi & fow ufSteor & foedi @ ol o1 3Ig@ il
Or / 37¥ar

Name the process through which the new employees are introduced to the
organization. Why is it significant? State.

3G UfshAT 1 I qI3T, s ATEIH ¥ AU HHETE] o G€1 ¥ uifad shemn S
Bl IE b HEAYOl 87 3Ig@ i)

38. Differentiate between ‘advertising and sales promotion’ on the basis of—
(a) objectives;

(b) nature. 2
fosme’ @ “foshg wadw § frafefaa smaml W srave hifve -

(%) e

(@) wHfd
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39. State any four objectives of World Trade Organization. 2
Tava =MR @Med (WTO)' & Tl wm 39 &1 3g@ shifsw)
Or / 3Ya1

State any four points highlighting the role of World Trade Organization.
e =R e H YHeRT W THR S O bl aR eIl # 3g@ i

40. Give the meaning of durable and non-durable goods. 2
feapre’ aun R-fepre’ axgati &1 31 i)
Or / 3ar

Give the meaning of tangible and intangible goods.

o’ qUn ‘Id’ agsh w1 e G

41. Name the outsourcing services that require expertise of a higher order
knowledge work. Why is this outsourcing done? State. 2

3 TREIdRET Ta3 & A9 9diy, He it Sy I e 6 fowwsiar &
ATEIHAT Bl B T8 REIAHTT Fa1 fham a1 87 3g@ shifog|

42. Name the function of management that harmonizes group efforts so as to
achieve the goals of the organization. State any two points of significance
of this function. 3

TS % 3IW HE hI AW SR, A Y o AN H A TATMUT BT § Mk TS
o A ! T RIS k| W HE o HE % [heal a1 (63l H 3Ig@ I

43. “It is a form of retailing wherein two parties enter into an agreement in
which one party authorizes others to sell or produce specified goods and
services.”

(a) Identify the form of large-scale retail business.
(b) Identify the two parties involved in the business identified in (a) above.

(c) Give an example of such business. 3
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‘98 BeRt MR H TH @ &9 7, S @ ual § gU GWeid % THid Tk Ua, g U
w1 fooy aege 3t dansh w1 g=d SF¥ar 3Ianfed wH  forw srfeka At 217

(%) 9 TH & FIH AR % 38 &Y Sl UgAIT]
(@) 9 (%) § 989 TN <g@™ H Higfdd & uefi ! g

(T) 39 YR % HIE™ B Th ICTE SIforu|

Or / 374l

JG Transport Company is providing the service of sending goods from one
part of the country to another. At the time of booking the goods, a receipt
is issued by JG Transport Company.

(a) Name the receipt which is issued at the time of booking of goods by
the company.

(b) List the information covered in this receipt.

Slo Sffo diEET HF TEGSTT 1 G % Th W § 3T | H Tga hl dal FqH Hd
B WA I GfRT Wk THT So Silo UREEH HFH] G Tk g IR I ST B

(%) HOH gRT TS I FRET b THY S h AW aTelt Wig w1 AW FqEy|
(@) 39 Wi § & I arefl ge1st 6 g s

44. Differentiate between fixed capital’ and ‘working capital’ on the basis
of—

(@) meaning;

(b) tenure;

(c) benefits. 3
it S tg wRiEfd g 6 feEfaRed smurl W srie HifT

(%) 1

(@) Imafy

()
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Or / 37947
Explain the following as determinants of working capital :
(a) Nature of business
(b) The manufacturing cycle

(c) Promotional and formative phase

FfTRgd w1 HRA S % Muie % ®9 H 9y

(%) =HeE™ I Tl
(@) 3T =sh
() RN T Jadd AT

45. Sukesh is working in a textile industry. He is the Human Resource
Manager and has to recruit 10 salesmen for the company. After
determining the qualification and experience required for various jobs
involved, he is in search of suitable candidates. For this purpose, he
decided to use various sources from outside the organization. Explain any
three such sources. 3

gohyl Th HUST I H B KA1 gl I8 HHd THIEH Yaush gl 38 w6 fofw 10
fersporepatatt 1wl st 3| Tafte st & fore stavas [ g 9 sgve & fyio
% 91 98 IUYH ITHICANl I WIS T 8l 39 LT U 304 T | a1l & fafir &
I I HH w1 Ao form v fRE R @l o wwEmsw)

Or / 37¥ar

Mukesh, the Human Resource Manager of BP Ltd., an electronics
company, has received a number of applications for the post of Production
Manager. From amongst the various applications, he has to choose only
one. Identify the process which Mukesh would use to choose the most
suitable candidate. Explain the first two steps of the process identified.

opdT, Stotfofafiie o AHa HETeR Yaruh 81 38 ST SoragiHad Ol | 3caTesh Ya-e
% ¢ % fou w% et wiw gU 1 3 e s § @ S8 had wh w1 @ g R
3G Uik ! Tg=TT, fet SR Sich Tohel Ha8 U ITfCaR T =¥ HUT | TgaH!
T$ ufshar % YUH Q=0T I HESEY|
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46. Suraj has completed diploma in Sales and Marketing from a reputed
institute. He now wants to take up a job as a salesman. Guide him by
stating any three qualities that he must possess to become a good
salesman.

T A U yfafyd geam ¥ fashy wa fquum @1 fewamn qu o 21 3@ 98w faskaehdt
%1 AU FHET FTRAT 8| Th 3TTS (oshashdl % A 0N 1 3@ Hd g, S IGH e
B MU, 3T AN ShifoTg|

47. State any two formalities to be completed by clearing agent in external
trade.

o AR § freprEdt stfieral g gt 1 ST areft fehedl @t ekt w1 3g@ it
Or / 3JYa1

Give the meaning of the following documents used in external trade :
(@) Indent
(b) Letter of credit

TR SR H W fefafad sorat w1 e @i
(%) g2

(@) a/@-14

48. Differentiate between ‘Private Limited’ and ‘Public Limited’ company on any
five bases as per the provisions of the Companies Act, 2013.

Hrt Afafem, 2013 % wegEl % FgER, S fafiees 3 adefes fafiees’ s
T fordl utar 3mam W AR hHifsm)

Or / FHYal

Differentiate between ‘public enterprise’ and ‘private enterprise’ on any five
bases.

‘s 3 9 ‘feft 3T A foedl uiw Smum w3t hifsm)

49. Explain the steps in the process of controlling.

fe=o-vfshan < =ROT Sl HHETSU|
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50. Suresh is a broker in a stock exchange. His son, Rahul, a student of
class XII is now-a-days studying the chapter of ‘stock exchange’ as a part
of his business studies syllabus. He asks various questions regarding the
functions of stock exchange from his father. Before explaining the
functions of stock exchange, Rahul’s father first describes the meaning of
stock exchange as per the Securities Contract (Regulation) Act.

(a) Give the meaning of ‘stock exchange’ as per the Act explained by
Rahul’s father.

(b) Explain any two functions of stock exchange. S

T I TER H Th AT | TR G UG, S foh heql XII 1 B @, ohel 30
TER AT UTSTHT % Tk HF % &Y § I TR H IS U @ 2| 98 379 T
Y IR ISR b FET H TG FE A qodl Bdl 8l UgA % fUdr 9 3 AW TR
% HE AW ¥ v uffa ey (fafemm) sifufem & SHER Ier SR &1 a9
HHSMETI

(%) AUET % FTER TgA % fUd1 g0 TSR T WA TR H 7 )

(@) I IR & Tehgl @ hMET hl 9|
Or / 37¥ar

“As part of its efforts to protect investor’s interests, the Securities and
Exchange Board of India (SEBI) has initiated many primary market
reforms like improved disclosure standards in public issue documents,
introduction of prudential norms and simplification of issue procedures,
etc.”

Explain five other primary market reforms initiated by the SEBI except
those discussed above.

“Frarerent & fedl Y T& 6 TATET % U 9T % €9 § wRd gfayfd e fatme o (@)
I e SNR § gUR % §gd § SR MWW R €, S9 wewte PR ot w6
U gU THHUT AW, foaehqul A 1 TR d i shrifafy 1 axeisno
amfe”

S feu T gurt & sifafes st (SEBI) g1 wufies SR # 3Ry fhu Mo ute ot
guri I qHAETY

51. Give the meaning of ‘self-employment’. State any four characteristics of
self-employment. 5

WU 1 7Y dfvu| @i f fedl um fomivarst 1 sg@ Sifsm)

* ok ok
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This Question Paper consists of 51 questions.
W YH-TF & I 51 T &

BUSINESS STUDIES
SRR AT
(319)

Time : 3 Hours | [ Maximum Marks : 100

g ;3 g | [ Ui : 100

Note : (i)
(i)
(iii)

(iv)

v)

(vi)

few: ()
(ii
(i)

(iv)

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

Section-A consists of Question Nos. 1 to 20—Multiple Choice-type
Questions (MCQs) carrying I mark each. Select and write the most
appropriate option out of the four options given in each of these
questions. An internal choice has been provided in some of these
questions. You have to attempt only one of the given choices in such
questions.

Section-B consists of Question Nos. 21 to 35—O0Objective-type Questions
carrying 2 marks each (with 2 sub-parts of I mark each). Attempt these
questions as per the instructions given for each of the questions.

Section-C consists of

(a) Question Nos. 36 to 41—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 42 to 47—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 48 to 51—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

3 -9 7 $A 51 I B

aft g e 2

Y% T % 31 3G g fer T g

WUE- H Y @ 1 ¥ 20 T sgahedd WA (MCQs) 8, N yRie WA
1 3% #1 3| TS YA § feu v =R fowedl § @ wew IuYh foehew &1 =R
3R fod| =1 @ 35 Al § Taies foswen fom mem 21 U @ el # feu o
foshedi § @ e TH T & I oA B
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(v) Wue-a ¥ 99 T&1 21 ¥ 35 d% a8 YHR & T 7, 98 Y T 2 37
2 (1 3% % 2 IJU-WFN & d1¥)| JAh T o fo¢ feu 7o feen & gar 7 i

¥ IW <
(vi v\ # wWifta ®

(a) T TET 36 ¥ 41, 2 3% & Afd-ogmid v F, H W 30 7 50 veqi

7 & R

(b) T TE 42 ¥ 47, 3 Ih & LR WA &7, b W 50 F 80 W

H e gl

(c) U T 48 ¥ 51, 5 3 & dH-Iq0y YW 8, T W 80 A 120 wsdi

7 & 3

p
(1)

(2)

Answers of all questions are to be given in the Answer-Book given to you.
aft yEl % I IR & TS IW-Yfaeh 7 & ford|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

39 YH-T9 Sl Ted & fu 15 fime &1 g9y fear mn R wwa-w o faaeer Qe |
2:15 &1 fopam ST Qe 2:15 &9 § 2:30 S doh B el YH-UF bl Tel HR
39 A & CNH o IW-TEAhl T hig W a8l fore|

N

Note :

frawm

SECTION—A
Gus—H

Question Numbers 1 to 20 are MCQs of 1 mark each. Internal choices
have been given wherever necessary :

;U T 1 ¥ 20 Sgiashedd Y | Y T 1 37k I | &I a7, AN

forehed feT W B -

1. Which of the following is the last stage in the on-line transaction process?

(A) Payment (B) Order

(C) After sale service (D) Search

- oeT Uik o FrefaRed § & wi-w sf<m atewen 27
(A) TaH (B) 3re
(C) fosha uvamq T (D) @
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2. Which of the following is the part of legal environment of business? 1

(A) Economic policies (B) Provisions of the Constitution
(C) Judicial decisions (D) Both (B) and (C)
FAfied & § SH-91 e™ % fafue 9aeR 1 9w g7
(A) 3 Hifet (B) ®lau™ % WEe™
(C) =nfae For (D) @i (B) T (C)
Or / 31941
Which of the following is not a part of non-economic environment of
business?
(A) Social environment (B) Political environment
(C) Legal environment (D) Economic system
fraffga & @S- SEEE & R-snlis gatar & g T8 80
(A) @ISR TR (B) TSHife wRTeReT
(C) faferss gafarm (D) affes yomreft
3. X Ltd. holds 60% share capital of Y Ltd. X Ltd. is a
(A) holding company (B) subsidiary company
(C) government company (D) Both (B) and (C) 1
g fafiee, o fafite % 60% 39 ISt #1 ans B e fafiee g,
() fremes we (B) WewR® HEH
(C) &l Fwref (D) @ (B) @ (C)

4. The full form of PPP is

(A) Public-Public Partnership (B) Private-Private Partnership

(C) Private-Public Partnership (D) Public-Private Partnership 1
dto Ho dlo 1 ol ®W B

(A) ufecter-dferss TR (B) Wsde-WIgae qTERRM

(C) YTgae-ufectsh UG (D) ufesteh-STgae urd-Ri™
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Or / HYar

Which of the following is not an example of a departmental undertaking?

(A) Railways (B) All India Radio
(C) Food Corporation of India (D) Doordarshan
fr=feafea 8 @ wH-a1 faurfa Susey 1 I T8 27
(A) Yo (B) 3far sfeam i
(C) wurd @ famm (D) e
5. To arrange disbursement of unemployment allowance to specific categories
of jobseekers is the function of which of the following? 1
(A) Placement agencies (B) Friends and relatives
(C) Employment exchanges (D) Both (A) and (B)

TRt & 3P O foRIT I o AN Bl SIS Wt o Toraor <t seen s, feferfiaa
T ¥ fpaes & 27

(A) R oo aTeft wor (B) T wg wm-waef
(C) TSR ™ (D) THI (A) @ (B)
6. Sometimes informations about job vacancies are also telecasted
through
(A) employment news (B) leaflets
(C) television (D) Internet 1
Ffi-weft TR o fawa & et &1 sEmo % Wem ¥ o fRen Sar 2
(A) TUSHTR THER (B) T
(©) e (D) Fewie

Or / 37¥ar

Which of the following undertakes career counselling and vocational
guidance with a view to effectively guiding the jobseekers?

(A) Employment exchange (B) Placement agencies

(C) Employment news (D) Mobile phone
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frfafgd o & sF-a1 Sifawh % fw g 3R ARl 61 T o ardl Sl JHEg
HTTESH oam 87

(A) TSR ST (B) Tt worht
(C) UHTR HHER (D) HETEA BH
7. Management consultants specialize in the placement of executives at the
(A) top-level (B) middle-level
(C) lower-level (D) both top-level and middle-
level 1
yeY THSEl oY % HEHH FiemTE B Fghie & fatvs ga g
(A) I=-TI (B) weI-&{™
(C) T-wilix (D) Tl SE-THT YT TH-TR
8. When applying for a job, the biodata should be accompanied with an
appropriate letter. 1
(A) opening (B) closing
(C) covering (D) Both (A) and (B)

e fopefl U % fofu 3maed fopan STTar &, @1 Sfied-9did & a1 Taweh EERE
fopam a2l

(A) IRMH (B) 3=
(C) e (D) <M (A) T (B)
Or / 374l

What will you do if during an interview for employment insulting or
irrelevant questions are asked?

(A) Get angry (B) Lose your control
(C) Get angry but do not lose (D) Do not get angry and lose
control control

Ffe TR & fAIC AATTHR o THT STIHHSHR AT TR 94 I8 I1d &, a 37
T HUI?

(A) TEET B (B) 3T o @R
(C) T HUT W FHI=0 T @R (D) 7w & wa g e @
QR
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9. A plan laying down the what, how, who and when of accomplishing a
specific job is called

(A) programme (B) policy
(C) budget (D) procedure 1

gg A9, S fpet fafdte &R B qU e % R, Y, B q1 w1 HYRer wd
8, HEAN @

(A) S B) Hf
(C) srsie (D) wrifafy
Or / HYal

The plan that determines how the different activities of the procedure are
completed is called

(A) programme (B) policy
(C) rule (D) method
g ASHI, S wRIfE w1 qU e f fafe afafafert o fufo st 7, weandt @
(A) S (B) i
(©) frm (D) fafy

10. _ refers to the officially established pattern of relationships among
departments, divisions and individuals to achieve the well-defined goals
and a consciously designed structure of roles. 1
(A) Planning (B) Organizing
(C) Formal organization (D) Informal organization

*1 ey fafim fovmn, Iufawrt, sd=mfai onfe % f= sivenfes 1 @ wnfia
eyl ¥ g s g0 wE &9 9 qiwifyd @5 & qu TR S "ok aun guw foreehyul
&9 feomed i 18y gt 2

INIRERIEE] (B) A
(C) o=l dmaa (D) U=, Ead
Or / HYal

The systematic effort to grant authority at all levels of management and in
all departments is called

(A) delegation (B) decentralization

(C) centralization (D) communication
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HHTE Tl § 89 o i WU W IR T favrn # ARR Yed T shedrd 8

(A) 3T (B) Terehgiertor
(C) <hgithto (D) =T
11. guides and helps the subordinates to complete the given task
properly and as per given schedule. 1
(A) Planning (B) Organizing
(C) Staffing (D) Directing
_ refieedi it fou T T Bt HRishH < STIER TSl e ¥ I o Tt uUwesy
Hl 2|
(A) FESH (B) €A
(©) frafewm (D) Feem
Or / 31947
ensures that work is done according to the orders and instructions.
(A) Planning (B) Supervision
(C) Leadership (D) Communication
_ gHfvad war & T wr e qen e o gER TR S W@ Bl
INIRERISE! (B) waequr
(C) g (D) @S
12. Which of the following is a factor not affecting dividend decision? 1
(A) Market conditions (B) Liquidity requirement
(C) Financial needs of the company (D) Tax policy
frafafga & @ SF-T1 oy fol & gwifaa w9 9T T B T@ 87
(A) SR & feafa (B) TReAdT Tawehal
(C) hrat s forfia STmavehar (D) & ifa
13. The most judicious capital structure of a company is called ____ capital
structure. 1
(A) best (B) optimum
(C) desirable (D) Both (A) and (C)
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e ) we S o s A b w w3

(A) TaH (B) 3Ry
(C) aifea (D) QI (A) T41 (C)
14. Need for shelter is which class of need? 1
(A) Physiological needs (B) Social needs
(C) Ego needs (D) Safety needs

TR hl ITEYIRAT TohH YR < TG 87

(A) ToraTeHes STerREehal (B) TR STl
(C) 378 STavaHT (D) TR SRR
Or / 37¥ar

Rigidity of rules many results into which type of barrier of communication?

(A) Semantic barriers (B) Psychological barriers
(C) Organizational barriers (D) Personal barriers
TRt 1 haRar #1 Ui fohe SRR I HIWU STET §H Hehdl &7
(A) WTSTTT ST (B) WIS &
(C) ESATH® ST (D) =AfwTa s
15. Which of the following focuses on the traditional concept of marketing? 1
(A) Product (B) Selling
(C) Profits through maximization of (D) Consumers’ needs
sales
frefefad & @ SH-a1 fouum 6 grufe SEyRm W e a1 27
(A) 3G (B) Tosra
(C) Tushar o Wiz ¥ ifepan AW (D) SUNRBIST <l TR
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Or / 31941
One who actually uses the product or service is called
(A) buyer (B) customer

(C) marketeer (D) consumer

98, S Iqd § 3IC AT YT h YN HAT 8, hEAdl @

(A) b (B) e
(C) Terorehdt (D) UM
16. Collection and analysis of facts relevant to various aspects of marketing is
called
(A) product planning and (B) standardization and grading
development
(C) market research (D) branding 1
fauue & fafid 9gqet o o 8 I a1 WEw 3R favewur wEamn §
(A) 3T I 3R fasm (B) TR 3T Suffentor
(C) fauom sy (D) sifeem

Or / HYal

The act of designing and producing appropriate container or cover for the
product is called

(A) packaging (B) labelling
(C) branding (D) Both (A) and (C)
3IEE % AU IUYH el YT 0T 61 feoei 3R WiggRm *1 w1l whgamr &
(A) TeRRTT (B) TSl
(©) sfen (D) @M (A) T (C)
17. Distributing free gifts of a product is an example of which element of
promotion mix? 1
(A) Advertising (B) Publicity
(C) Personal selling (D) Sales promotion
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fopeft 3caTe b1 g duet et vadd fay % fhE a1 e 77
(A) TomToH (B) T=R
(C) =t fosha (D) fosp Hae

18. Physical movement of goods from one place to another is called
(A) distribution (B) transportation
(C) buying (D) Both (A) and (C) 1
FEGIT B Hifdeh T4 § Th WE T R IH TgaHT el &
(a) oo (B) wfEed
©) = (D) & (A) & (C)

19. The sale of tea by an Indian company to a firm of another country will be

called as
(A) import (B) export
(C) entrepot (D) Both (A) and (B) 1
Teh YA ot g fordl 31 a0 & B I 9™ 9= e
(A) s (B) fia
(©) gt (D) @Mt (A) T (B)

20. _ help importer and exporter in sending and receiving the order or
goods along with other instructions. 1
(A) Indent Houses (B) Export Houses
(C) Import Houses (D) Shipping Company

AT Te s @ 3= faden afed 9t 99 Te " e # "EEdr i el
(A) TS TR (B) Tw=ia T8
(C) AW & (D) ST ot
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SECTION—B
wus—d

Note : Question Numbers 21 to 35 given below. Internal choices have been given
wherever necessary :

w9 WA HEn 21 9 35 QU Y § | ATERFshAgER A faehed fau T g

21. Fill in the blanks : 1x2=2

(a) means external forces, factors and institutions that are beyond
the control of the business and they affect the functioning of a
business enterprise.

(b) refers to the size, density, distribution and growth rate of
population.

ﬁ?ﬁwﬂﬂm:
(%) 1 31 I oTE Yk, dwl Ud EERA ¥ B S YaH™ & (¥ 8 STt
2 3 FEReh STH hl HEIUTA! I gHIfId il Bl
(@) T AU SHEEAT & ATHR, Ocd, G0 g d@iadl i et § 2l
Or / 37¥arl
Write the full forms of the following : 1x2=2
(@ MNC
(b) C2C
fr=faRea =1 oo &9 @ -
(%) Wo To Hlo
(@) #Ho 2 Hio

22. Fill in the blanks : 1x2=2

(a) means partnership between public sector and private sector in
financing, designing and developing infrastructural facilities.

(b) A company created by a Special Act of the Parliament or State
Legislature is called company.

ﬁ?ﬁwﬂﬂm:

(&) w1 3 g foiiem, foamea & @ snama et 6t giaansti § ddeife &=
ww ol & % " wEed|

(@) Tue ryar U= fautles & fomiw srfufem gro nfeq et oot sheemt
2l

319/TUS/111A 38 NN SRR



Or / HYar

Write the full forms of the following : 1x2=2
(a) SEBI
() BHEL

Fr=faRea =1 oo &9 @ -
(%) THo 3o o 3o
(@) o THo 3o Teo

23. Fill in the blanks : 1x2=2

(a) The primary objective of is settlement of jobseekers either
through regular jobs or through self-employment.

(b) The placement agencies basically help in informing the availability of
jobs in sectors.

ﬁ?ﬁwm:

(%) o A 399 FRfia 9g A¥ar @-USHR & o1 8 USSR i aersr §
AN Bl YR featmr 2|

(@) wHHe Tt &1 g R &3] § Al Sl 3uciedd % §99 § giad &
gl &l

24. Fill in the blanks : 1x2=2
(a) are the most common print media for advertisement of job
vacancies.
(b) test is conducted to test the subject knowledge or general
aptitude of the candidates.
T wam Wi

(®) o5 udl & fosnfd @ % fau gdgemo fie dfifen €

(@) qher o & FW hl e e TARE h am It bl e
HH & fofu ot SRt 7

25. Fill in the blanks : 1x2=2
(a) reduces uncertainty, risk and confusion in operation.
(b) Planning may create a of security among the employees of an

organization in the sense that since the activities will take place as per
plan therefore, there is no need to worry.
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ﬁ?ﬁwﬂﬂm:
() fpamepaat o rffeeaand, siRew 3t ymes fRufaai =0 =t €l

(@) U TS o Haanal ¥ e quan & 3T T el 2| HHAR dEd B
6 w0 Afg AN % IER & W 2, A 3¢ a1 HH H R T8 3l

Or / 3747
State whether the following statements are related to formal or informal
organizations : 1x2=2
(a) It is not created by top management.

(b) It is permanent and stable.

3g@ $ifvu 5 fFafalea wum fivenies e =T e o Tefd 8 ¢
() 3@ Yo I F&Y G TE Bl &l

(@) ¥ Tl qen @R 2l

26. Fill in the blanks : 1x2=2
(a) are the end results towards which all the activities are directed.
(b) is a general statement that guides decision making.
b wam Wi
(%) Jf<m ufomm g & e forw meft wfafafer 1 Fefim frm stmar 21
(@) Th A HYF g S vl o w1 e sl 2
Or / 379d1
Answer the following : 1x2=2

(a) State the first step in the process of organizing.

(b) In which type of organization managers have formal authority?
fr=fefed w1 I G -

(%) TS UTshAT o T&H =T 1 3FE@ It

(@) fpH TSR & ST § Yauhl & I T ARG 8d 87
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27. Fill in the blanks : 1x2=2

(a) is the systematic effort to delegate authority at all levels of the
management and in all departments.

(b) is done to speed up the work and is essential in every
organization.

ﬁ?ﬁwﬂﬂm:

() H1 37 I HHEG T A g ek g vy o @t T 3R wmed fovm
¥ R TR0 Biar 2
(@) g &M 6l Tq §¢ A 8 N T8 W G H AEWH Bl
Or / 37¥ar

State whether the following statements are a feature or importance of
planning function of management : 1x2=2

(a) Planning is always futuristic.

(b) Planning is a continuous process.

3Ig@ Hifve fo fafatad wem e & e o i fonivar 1ver 789 8
() T vl g 2l
(@) A s gda ufsear 2

28. State whether the following statements about National Stock Exchange of
India are true : 1x2=2

(@) One of the objectives of NSEI is to meet International Standards.
(b) NSEI was recognized in 1975.
3g@ HIfe fob Frafafed wua wra & T wie twEw % Hed # wd §
() 9N & UG ih UHE=S i Ush 3298 JaUPA HHehi 1 U HET 2|
(W) ¥R % UPHE Wih THE=s $H1 1975 § A=ar 9 g8 off|

Or / 37T

State whether the following statements are True or False : 1x2=2
(a) SEBI regulates the securities market.
(b) Statutory recognition was granted to SEBI in 1975.
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3@ Hit fe Fefafed s aft € 31wen Tom
(%) et wfayfa swm w1 FRafEa s 2l
(@) O« &l 9§ 1975 H HiAReh AWl YeH i TE|

29. Fill in the blanks : 1x2=2
(@) _____ that is connecting physical certificates into electronic form.
(b) Services provided by depository are termed as ______
& WM ‘Hﬁ'Q :
(F) AU *ifdes JHomEt w solagie €9 § UiEidd |
(@) FEUmR g/ e 61 M Al whewdl &

Or / 37¥ar
Give the full forms of the following in respect of working of depository
system : 1x2=2
(a) DRF
(b) DP

Ao yomet % % "ey ¥ fefafed w1 qo w9 R
(%) o Mo Tho

(@) $lo dio
30. Fill in the blanks : 1x2=2

(a) is mainly used by the banks to meet their temporary
requirements of cash.

(b) is the market for short-term funds.

foh T Wi

() Shi T Y& ®U H ITeh! Uhg i TR ITMEwThalali i W i & g
IFANT I ST B

(@) _____ 3TcUshlclF HINl H SR &
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Or / HYar

Classify the following into various types of money market instruments : 1x2=2

(a) It is a popular instrument for financing working capital requirements
of the company.

(b) These are short-term instruments issued by commercial banks or
special financial institutions which are freely transferable from one
party to another.

frefafad = fafie R % gz a9 yu=t o affeor Hifvw
(%) Ig HT hl wHEAA ISt 1 AEvEIRar & foxfem #1 ARl T R

(@) I TcUmAH Ju & o arforfsaes § qen fafve forfrm s 9 a2, 3=
TH U § g U4 I Wad ®9 Y gEaRd AT ST Hehdl gl

31. Give one word for the following statements : 1x2=2
(a) Giving an attractive name, symbol or identity mark to the product.

(b) He organises various marketing activities such as market research,
product planning, pricing, distribution, etc.

frafafga wem =1 % W # S &N

(%) 3IAC I Uh HAHYH M, U8 AU Y Heh <Al HEAT Bl

(@) Tz fafvm fauom nfafafom Sa sem oy, 3o FEeH, gea-faion, foaon snfe
H1 FESH w2

32. Fill in the blanks : 1x2=2

(a) Tube of ointment is level of packaging.

(b) are essentially intangible activities which provide want or need
satisfaction.

Th ®H 9T

(%) TEH h YT YBMT *H1 T 7
(@) JEWH € H I ACEAT B 8, A HAEIRAT HP YGH Hdl @l
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33. Fill in the blanks : 1x2=2

(a) External trade is also known as

(b) is an order placed for import of goods.
foh T Wi .
(%) 9@ MR & oft Fa1 I 2l

(@)  Hd &% AEE & fau fean mn osmew 21

34. Fill in the blanks : 1x2=2

(a) trade of a country includes services received from other
countries or services rendered to other countries.

(b) can get immediate payment on the strength of this letter which
is issued by the importer’s bank in favour of the exporter.

ﬁ?ﬁ@l‘l’—lﬂﬁ@:

(%) AR H g < | A1 I T BT A1 TR g <R Wl HATE YEH HEAT
wftfera 2

(@) HAMTAh o §eb gRT FAaes o 9t T I fohan 9 oterm yo @ forees g
frafde Q@ JTaE ITH S HehdT 2l

35. Analyze and give answer : 1x2=2
(a) How does distance create difficulty in external trade?

(b) An importer of goods may have to take many steps in the process of
import. List the first two steps of this process.

Tageiyor Shifse qen s S -
(%) ST@l SR H gl U 147 3c9d Ll 87

(@) AT UfhaT O a3 & 3T bl fOfid wed 38W BIA | 3H Ukl % yUd
3 =n A g i)
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SECTION—C

Qus—Y4

Note : Question Numbers 36 to 51 given below. Internal choices have been given
wherever necessary :

few . ey @ 36 @ 51 fou MU | SEvIshaTER Al fasheq fou T E

36. Why is ‘Password’ necessary in case of on-line shopping? 2

- shd o Tl H UEdS F&b IS 87

37. Give the meaning of ATM. 2
To o W' w1 7Y iUl
Or / 37qr

What is meant by a ‘debit card’?
‘Sfee w1+ T 3 27

38. What is meant by ‘public enterprise’? 2
‘A T HT F 37 7Y

39. Identify the following ‘Departmental Undertakings’ and ‘Government
Companies’ : 2
(a) Hindustan Shipyard Ltd.
(b) Post and Telegraph
(c) Railways
(d) Steel Authority of India Ltd.
fafafad 6 veam fawrfie w3 R HEH % w9 H HINT
(%) fegeam R fafiee
(@) e T dR
(M) T

(7) W seama wteer fafies
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Or / HYal

There are certain limitations that are observed in ‘statutory corporations’.
State any two such limitations.

wifafes ol # po @A R T # A Rl @ g w1 sgw S

40. “Plans remain mere plans unless they are put into action.” Name the
function of management that puts the plan into action and state its any
one point of importances. 2

“IISHE had IS 1§ Tl & S« deh o 3= TshATId &l (ohdl S| a9 o 39
R 1 AW T, ST AT Bl SRAIIG HAT @ qUT 36k Ae o [hHl T faeg o
3@ i

Or / 374l

State any two barriers to effective communication that appear because of
state of mind.

gumor i UH fordl @ st 1 3g@ HifSe, S AHfe o9 % wRer IO Bl Bl

41. What is meant by ‘investment decision’ 2

Trowr fof’ = @ 31 27

42. Explain the following general principles of management : 3

(a) Division of work

(b) Remuneration

yey & i am= fag< gvemy
() HrE-favmE
(@) urifes

43. With the help of a diagram, explain the channel of distribution that uses
the services of mercantile agents. 3

e T i TR A foaior & 39 Wiem i GuHsy, S S Teldl hi AT Bl SUHIT
Fd 2

Or / 3747
How do the following factors affect the choice of channel of distribution?
(a) Nature of market

(b) Nature of product
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Fafafegs wre 8 foawr mem « gaifaa @ 82

(%) SR ehid
(@) 3eTe Sehid

44. Briefly explain the following techniques of scientific management : 3
(@) Time study
(b) Motion study
I Yoy I ffIRad deRiehl I H&d § FHAST :
(%) U A

(@) T 3T

45. State any three functions of a supervisor. 3
wdeh o fohgl i BRI Bl 3@ iU
Or / 3Yar

State any three points of importance of leadership.

Y b we & e fagell @1 sgE iR

46. Briefly explain ‘right to seek redressal’. 3
Trpra Fanu sifeR’ # 98w § Fwesv)

47. There are certain responsibilities of consumers. Briefly explain any two
such responsibilities. 3

IUIIBIAT & O IWEII B 8| T fohdl § IRt & Ta9 § gHgmEy
Or / 374l

There are certain malpractices leading to consumer protection. State any
three such malpractices.

T F5 IFER § 5 e suder G seawEs 2| W@ R @R e @ 3gE
it
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48. “Planning is of great importance to management. In spite of this fact, it
suffers from some limitations.” In the light of this statement, explain any
five limitations of planning. 5

“feem wey % T e gewel 21§ desh BH W oft sEehl 3w dmnd #1773\
FUYT o TH H e f el gt dimst o guesu)

Or / 37¥ar

The process of organizing consists of certain steps. Explain these steps.

TS UTHAT o $B =0 B &l 39 =N HI AR

49. There are certain objectives that financial planning strives to achieve. State
any five such objectives. 5

B TH LW Bd & N foxia fRsm wmg e f 991 wear 21 w8 el uter e
@1 3g@ FHif

Or / HYal

State any five points of importance of financial planning.

foea FRISH % #Ag@ % Rl ura fagatl =1 3g@ T

50. Explain the factors that affect fixed capital requirements of business. S

™ W TR S SAERIRATH] i TATGA i Tl Hh THART|

51. Briefly explain the factors affecting pricing decisions. 5
qoa-faeaier &1 yaifed W 9Tt dwl W gad H gHEmsu)
Or / 37¥ar

What is meant by price? Explain any two methods of price fixation.

Tod H F Ad g7 Yoa-Hanw Fi feel @ fafeei s swemsu)

* kK
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